Combl  piaper Changing Station
MS: BS-F52WH Installation Manual

In order to safely install the Diaper Changing Station MS BS-F52WH onto a flat surface,

please make sure you read this manual and follow the instructions accordingly.

/\ WARNING

* Fix the Diaper Changing Station to both the floor and the wall. The Diaper Changing Station may fall if attached
only to a floor.

How to Mount onto a Floor

* Select the anchor bolts that can be P incorrect. | P Correct. |

firmly secured into concrete, to a Anchor Bolts
depth of at least 40mm. This product Tile ; Secure the anchor bolts
firmly into concrete,
1: —— Mortar ——
Concrete

may collapse if the anchor bolts are
40
/ % M/ or?rlgater

’— to a depth of at least 40mm.

connected to a mortar surface.

* Apply foundational reinforcement if the wall surface is other than concrete.

*Make sure that each mounting point can withstand a strength of 200N (20kgf or more) [fix four mounting
points]. Failure to do so may result in fall.

* \When mounting to drywall with self-tapping screws, reinforce the mounting points with light gauge steel (studs
or cross-braces), or reinforcement plywood along with the screws. Failure to do so may result in fall.

30mm or greater

‘

 When mounting to a partition with self-tapping How to Mount onto a Wall

screws, insert snug-fitting wood reinforcement of
at least 30mm at the mounting points. Failure to
do so may result in fall.

‘

Surface material < ™ T~

Insert wooden
reinforcement B

Self-tapping screws —f

— 1

Paper core

. TynesofScrewsused forWall-mounting I/}

@ to @ indicate the types of

wall surface helow.

*Only self-tapping screws and washers are supplied with the
Diaper Changing Station. Parts other than the supplied
hardware will need to be obtained separately.

Floor Surface

(D Partition/Plasterboard Installation

Concrete

e Self-tapping screws (6)

Partition Reinforcement

Place a piece of wooden reinforcement at least

30mm in thickness inside the wall

“Note that installing reinforcement wood is extremely important.

@5x40 self-tapping screws
(supplied with Diaper —> @m

Changing Station)

05 quhers_ . . . T

(supplied with Diaper Changing Station)

Plasterboard Reinforcement

Reinforce plasterboard with a light-weight steel frame,
t12 plywood , or t 2.3 iron plate.

o M10 screw anchor bolts (3)

@ Concrete/ALC Installation

* Male bolt type
* M6 screw anchor bolts (6) * Use ALC specific anchors for ALC installation. Nut— < Washers

o—af]] =

* Take into account the depth require for
safe installation by referring the
WARNINGS on the left.

* Male bolt type * Take into account the

* Female bolt type
depth require for safe
= installation by referring

«— Washers
s — =S o—=uf]
E the WARNINGs on the

L Washers A Nut left.

(3 Hollow Block Installation

Toggle Bolts (6
* 1009 ( ) vﬁMfiwashers. _

M6 botts —> [ @q.

b «<—— M6 toggle bolts

IS
I Reference Example of Mounting Location I
N e 2
\ /\ WARNING
e |f installing the product in a private restroom
that has toilet and sink, please install in a
Wa||§ location where the product can be seen at all
\\\\ times.
\ « To prevent leaving the child at any time please
install a used-diaper receptacle close to the
N L Diaper Changing Station. )
50 — 70mm space on the headside Over 400mm for workspace
* [nstall leaving at least 400mm for workspace on either side of the ( /\ CAUTION )
Dlaper Cha.ngmg Station. . The Diaper Changing Station should be
* Install leaving a 50mm — 70mm space on the headside between installed clearly from door space. otherwise it
the wall and the Diaper Changing Station. | may cause damage. )

. Paisinciuded Il

Flat Head Screws Hexagonal Socket Bolts e Washers (M10) ,3 Tapping Screws (g5L40) Tapping Screws
(M6 L16), 3 (24L16), 8 Washers (g5), 6 sets (24L30), 4
() a9 (0)<commmmmn) | <o

Users Manual, 3
Installation Manual, 3

L-shape Hexagonal

Instruction Panel, 1
Wrench 2.5, 1 o .

0 Warning Sticker, 1

A —

AN

[

™ Sec back for mouling instrctions.

*For information on products, contact the distribution agency.

oistiwor COMbiIWith Corporation

Head Office/2-6-7, Motoasakusa,

Taito-ku, Tokyo 111-0041 Japan

TEL : 81-3-5828-7631 FAX : 81-3-5828-7630
www.combiwith.co.jp/

Manufacturer Com bi Corporatio n

2-6-7, Motoasakusa, Taito-ku, Tokyo 111-0041 Japan

122456010% 0806(1)




A Installation Instrustions _

W oo he hinge covers (right Y -0 the two (2) screws from ERY 0:ivc 1110 anchors into the WYV iiach the stand frame 9-1 _ Installation in Concrete/ALC walls.
and left) and the top center cover from the | the stand cover and then remove the stand mounting location. to the floor. Drive in M6 anchors and fix the unit in place.
unit and connect the unit to the stand. cover. Confirm where the staqd cover 5-2 Installation in partition wall/plasterboard
attaches and make a mark to indicate this. . o . . .
Fix the unit in place with the included tapping screws.
Stand Frame
Stand Cover Screws (2 screws) Stand Frame
Anchor Bolts (3)
I 10 Anchors (3) i
H - ~225mm | 225mm
5
I 2| & |
b E:T___' -—
]
\i 210 washers (0 to 3 washers) 52_4}_'%'_'
A Parts are included @) S | o7 x 6 locations
\\\ e O... ..... . . . N\
< . T~ side picture | Tapping Screws (95L40) and
__________ Do not leave empty — | Washers (M5): 6 sets
- space on the wall X
P E— . 7 |
32.5mm} H Wall/ E I
It 1 N & ! =2
i ! 2 |
45mm 1 80mm 80mm ! |
| ‘\--_ — :‘. _________ 4
I ¢ ) |
In order to stabilize the base, take the slope |
of the floor into account and the washers
Stand Cover accordingly.
" Attach the stand cover, attach the hinge covers (right and left), and then " When changing the direction of the cushion, please remove the " Please post the included “Instruc- " Place the guide stickers at the rest
attach the top center cover to the unit. inner cover and then fully remove the cushion before reinstallation. tion Panel” and “Warning Sticker” near the room entrance and the stall

unit in an easily visible location.

Warning Sticker Rest room entrance  Rest room stall
4

Top Center Cover

Screws (4) g \\ Use the included  Instruction Panel
N tapping screws
v <\ A RS if necessary

Stand Cover
Screws (2)

Place the stickers at both
the rest room entrance and the stall

( /\ WARNING )

Thoroughly check the Diaper Changing Station
once it has been installed. Refer to the Users
Manual “Maintenance Inspection” section. Using
the Diaper Changing Station without completely
assembling it can lead to injury or serious
accidents.

Hinge Cover
Screws (4)

Stand Cover

1224560108 0806(1)



